Egyptian Mathematical Society

## Original Article

# Closed form expression of tractable semi-max-type two-dimensional system of difference equations with variable coefficients 

Tarek F. Ibrahim*<br>Department of Mathematics, Faculty of Science, Mansoura University, Mansoura, Egypt

Received 7 January 2016; revised 25 February 2016; accepted 1 March 2016
Available online xxx

## Keywords

Eventually periodic solutions;
Difference equations;
Semi-max-type system

Abstract In this paper we shall examine the periodicity and formularization of the solutions for a system of semi-max-type difference equations of second order in the form
$x_{n+1}=\max \left\{\frac{A_{n}}{y_{n-1}}, x_{n-1}\right\}$,
$y_{n+1}=\min \left\{\frac{B_{n}}{x_{n-1}}, y_{n-1}\right\}$,
$n \in \mathbb{N}_{0}$, where $\mathbb{N}_{0}=\mathbb{N} \cup\{0\},\left(A_{n}\right)_{n \in \mathbb{N}_{0}}$ and $\left(B_{n}\right)_{n \in \mathbb{N}_{0}}$ are two-periodic positive sequences, and initial values $x_{0}, x_{-1}, y_{0}, y_{-1} \in(0,+\infty)$.

2010 Mathematics Subject Classification: Primary 39A10; 40A05
Copyright 2016, Egyptian Mathematical Society. Production and hosting by Elsevier B.V. This is an open access article under the CC BY-NC-ND license (http://creativecommons.org/licenses/by-nc-nd/4.0/).

## 1. Introduction

In recent years, the studying of nonlinear difference equations has been a considerable solicitude where there exist abundant

[^0]E-mail address: tfibrahem@mans.edu.eg, tfoze@kku.edu.sa Peer review under responsibility of Egyptian Mathematical Society.

models portray sociology, economics, real life situations in population biology, genetics, probability theory, psychology etc. whose exemplified by these kinds of equations (see, e.g. [1-8]). Also some papers are devoted to the implementing of max-type difference equations, see, for proverb [9] and references cited therein. In particular many experts have been focused on the investigation of the behavior of the following difference equation

$$
\begin{equation*}
x_{n+1}=\max \left\{\frac{A_{n}}{x_{n-k}}, x_{n-s}\right\}, \quad n \in \mathbb{N}_{0} \tag{1}
\end{equation*}
$$

where $s, k \in \mathbb{N}$, and $\left(A_{n}\right)_{n \in \mathbb{N}_{0}}$ is a sequence of real numbers (see, for example, $[10,11]$ ). Positive solutions of Eq. (1) are usually related with the periodicity. If solutions are not of constant sign then it is known that Eq. (1) can have non-periodic solutions which could be even unbounded [12]. For more papers about max-type difference equations we refer the reader to the references [13-16]. Motivated by above mentioned papers, here we will study solutions of the system of difference equations
$x_{n+1}=\max \left\{\frac{A_{n}}{y_{n-1}}, x_{n-1}\right\}$,
$y_{n+1}=\min \left\{\frac{B_{n}}{x_{n-1}}, y_{n-1}\right\}$
where $n \in \mathbb{N}_{0},\left(A_{n}\right)_{n \in \mathbb{N}_{0}}$ and $\left(B_{n}\right)_{n \in \mathbb{N}_{0}}$ are positive periodic sequences with period two, and initial values $x_{0}, x_{-1}, y_{0}$, $y_{-1} \in(0,+\infty)$.

## 2. Closed form expression of system (2)

In the section, we study the behavior of solutions of system (2). In order to achieve this target, we sub-edit and establish four theorems depending on the relationships between the quantities $\frac{A_{0}}{y_{-1}}$ and $x_{-1}$, and, $\frac{B_{0}}{x_{-1}}$ and $y_{-1}$.

Remark 1. From (2), we can note that every even (respectively odd) term of the sequences $\left(x_{n}\right),\left(y_{n}\right)$ depend only on $A_{0}, B_{0}$ (respectively $A_{1}, B_{1}$ ) and the previous even (respectively odd) terms of both $\left(x_{n}\right),\left(y_{n}\right)$.

Definition 1. A solution $\left(x_{n}, y_{n}\right)_{n=-1}^{\infty}$ of system (2), is said to be eventually periodic with period $p \in \mathbb{N}$ if there is an $n_{0} \geq-1$, such that $x_{n+p}=x_{n}, y_{n+p}=y_{n}$ for $n \geq n_{0}$. If $n_{0}=-1$, then we say that the sequence $\left(x_{n}, y_{n}\right)_{n=-1}^{\infty}$ is periodical and with period $p$. Period $p$ is said to be a minimal one if there is no $p_{1}<p$ which is a period to the sequence $\left(x_{n}, y_{n}\right)_{n=-1}^{\infty}$.

Theorem 2. Suppose that $\left(x_{n}, y_{n}\right)$ is a solution of system (2) such that $\frac{A_{0}}{y_{-1}} \leq x_{-1}, \frac{B_{0}}{x_{-1}} \leq y_{-1}$. Then the following statements hold:

1. If $y_{0} \leq \frac{B_{1}}{x_{0}}, x_{0} \geq \frac{A_{1}}{y_{0}}$, then
(a) If $1 \leq \frac{A_{0}}{B_{0}}$, then

$$
\begin{aligned}
& x_{4 n+1}=\frac{A_{0}^{n}}{B_{0}^{n}} x_{-1} ; x_{4 n+2}=x_{4 n+4}=x_{0} ; \quad x_{4 n+3}=\frac{A_{0}^{n+1}}{B_{0}^{n+1}} x_{-1} \\
& y_{4 n+1}=\frac{B_{0}^{n+1}}{A_{0}^{n} x_{-1}} ; y_{4 n+2}=y_{4 n+4}=y_{0} ; y_{4 n+3}=\frac{B_{0}^{n+1}}{A_{0}^{n} x_{-1}}
\end{aligned}
$$

(b) If $1 \geq \frac{A_{0}}{B_{0}}$, then $x_{4 n+1}=x_{4 n+3}=x_{-1} ; x_{4 n+2}=x_{4 n+4}=x_{0}$;

$$
y_{4 n+1}=y_{4 n+3}=\frac{B_{0}}{x_{-1}} ; y_{4 n+2}=y_{4 n+4}=y_{0}
$$

2. If $y_{0} \geq \frac{B_{1}}{x_{0}}, x_{0} \leq \frac{A_{1}}{y_{0}}$, then
(a) If $1 \leq \frac{A_{0}}{B_{0}}$, then $x_{4 n+1}=\frac{A_{0}^{n}}{B_{0}^{n}} x_{-1} ; \quad x_{4 n+2}=\frac{A_{1}^{n+1}}{B_{1}^{n} y_{0}} ; \quad x_{4 n+3}$ $=\frac{A_{0}^{n+1}}{B_{0}^{n+1}} x_{-1} ; \quad x_{4 n+4}=\frac{A_{1}^{n+1}}{B_{1}^{n+1}} x_{0} ; \quad y_{4 n+1}=y_{4 n+3}=\frac{B_{0}^{n+1}}{A_{0}^{n} x-1} ;$ $y_{4 n+2}=\frac{B_{1}^{n+1}}{A_{1}^{n} x_{0}} ; y_{4 n+4}=\frac{B_{1}^{n+1}}{A_{1}^{n+1}} y_{0}$;
(b) If $1 \geq \frac{A_{0}}{B_{0}}, \quad$ then $\quad x_{4 n+1}=x_{4 n+3}=x_{-1}, \quad x_{4 n+2}=\frac{A_{1}^{n+1}}{B_{1}^{n} y_{0}}$, $x_{4 n+4}=\frac{A_{1}^{n+1}}{B_{1}^{n+1}} x_{0}, \quad y_{4 n+1}=y_{4 n+3}=\frac{B_{0}}{x_{-1}}, \quad y_{4 n+2}=\frac{B_{1}^{n+1}}{A_{1}^{n} x_{0}}$, $y_{4 n+4}=\frac{B_{1}^{n+1}}{A_{1}^{n+1}} y_{0}$
3. If $y_{0} \leq \frac{B_{1}}{x_{0}}, x_{0} \leq \frac{A_{1}}{y_{0}}$, then
(a) If $1 \leq \frac{A_{0}}{B_{0}}$, then
i. If $1 \leq \frac{B_{1}}{A_{1}}$, then $x_{4 n+1}=\frac{A_{0}^{n}}{B_{0}^{n}} x_{-1}, \quad x_{4 n+2}=x_{4 n+4}=\frac{A_{1}}{y_{0}}$,
$x_{4 n+3}=\frac{A_{0}^{n+1}}{B_{0}^{n+1}} x_{-1}, y_{4 n+1}=y_{4 n+3}=\frac{B_{0}^{n+1}}{A_{0}^{n} x_{-1}}, y_{4 n+2}=y_{4 n+4}=y_{0}$,
ii. If $1 \geq \frac{B_{1}}{A_{1}}$, then
$x_{4 n+1}=\frac{A_{0}^{n}}{B_{0}^{n}} x_{-1}, \quad x_{4 n+2}=x_{4 n+4}=\frac{A_{1}^{n+1}}{B_{1}^{n} y_{0}}, \quad x_{4 n+3}=\frac{A_{0}^{n+1}}{B_{0}^{n+1}} x_{-1}$,
$y_{4 n+1}=y_{4 n+3}=\frac{B_{0}^{n+1}}{A_{0}^{n} x-1}, y_{4 n+2}=\frac{B_{1}^{n}}{A_{1}^{n}} y_{0}, y_{4 n+4}=\frac{B_{1}^{n+1}}{A_{1}^{n+1}} y_{0}$
(b) If $1 \geq \frac{A_{0}}{B_{0}}$, then
i. If $1 \leq \frac{B_{1}}{A_{1}}$, then $x_{4 n+1}=x_{4 n+3}=x_{-1}, \quad x_{4 n+2}=x_{4 n+4}$
$=\frac{A_{1}}{y_{0}}, y_{4 n+1}=y_{4 n+3}=\frac{B_{0}}{x_{-1}}, y_{4 n+2}=y_{4 n+4}=y_{0}$,
ii. If $1 \geq \frac{B_{1}}{A_{1}}$, then $x_{4 n+1}=x_{4 n+3}=x_{-1}, \quad x_{4 n+2}=x_{4 n+4}$
$=\frac{A_{1}^{n+1}}{B_{1}^{n} y_{0}}, \quad y_{4 n+1}=y_{4 n+3}=\frac{B_{0}}{x_{-1}}, \quad y_{4 n+2}=\frac{B_{1}^{n}}{A_{1}^{n}} y_{0}, \quad y_{4 n+4}$
$=\frac{B_{1}^{n+1}}{A_{1}^{n+1}} y_{0}$
4. If $y_{0} \geq \frac{B_{1}}{x_{0}}, x_{0} \geq \frac{A_{1}}{y_{0}}$, then
(a) If $1 \leq \frac{A_{0}}{B_{0}}$, then
i. If $1 \leq \frac{A_{1}}{B_{1}}$, then $x_{4 n+1}=\frac{A_{0}^{n}}{B_{0}^{n}} x_{-1}, \quad x_{4 n+2}=\frac{A_{1}^{n}}{B_{1}^{n}} x_{0}, x_{4 n+3}$
$=\frac{A_{0}^{n+1}}{B_{0}^{n+1}} x_{-1}, \quad x_{4 n+4}=\frac{A_{1}^{n+1}}{B_{1}^{n+1}} x_{0}, \quad y_{4 n+1}=y_{4 n+3}=\frac{B_{0}^{n+1}}{A_{0}^{n} x_{-1}}$,
$y_{4 n+2}=y_{4 n+4}=\frac{B_{1}^{n+1}}{A_{1}^{n} x_{0}}$,
ii. If $1 \geq \frac{A_{1}}{B_{1}}$, then $x_{4 n+1}=\frac{A_{0}^{n}}{B_{0}^{n}} x_{-1}, \quad x_{4 n+2}=x_{4 n+4}=x_{0}$, $x_{4 n+3}=\frac{A_{0}^{n+1}}{B_{0}^{n+1}} x_{-1}, y_{4 n+1}=y_{4 n+3}=\frac{B_{0}^{n+1}}{A_{0}^{n} x_{-1}}, \quad y_{4 n+2}=y_{4 n+4}$ $=\frac{B_{1}}{x_{0}}$
(b) If $1 \geq \frac{A_{0}}{B_{0}}$, then
i. If $1 \leq \frac{A_{1}}{B_{1}}$, then $x_{4 n+1}=x_{4 n+3}=x_{-1}, \quad x_{4 n+2}=\frac{A_{1}^{n}}{B_{1}^{n}} x_{0}$, $x_{4 n+4}=\frac{A_{1}^{n+1}}{B_{1}^{n+1}} x_{0}, y_{4 n+1}=y_{4 n+3}=\frac{B_{0}}{x_{-1}}, y_{4 n+2}=y_{4 n+4}=$ $\frac{B_{1}^{n+1}}{A_{1}^{n} x_{0}}$
ii. If $1 \geq \frac{A_{1}}{B_{1}}$, then
$x_{4 n+1}=x_{4 n+3}=x_{-1}, x_{4 n+2}=x_{4 n+4}=x_{0}$,
$y_{4 n+1}=y_{4 n+3}=\underline{B_{0}}, y 4 n=y_{4}=\underline{B_{1}}$
$y_{4 n+1}=y_{4 n+3}=\frac{B_{0}}{x_{-1}}, y_{4 n+2}=y_{4 n+4}=\frac{B_{1}}{x_{0}}$

Proof. By mathematical induction. For $n=0$, the result holds. Now suppose that $k>0$ and that all the relations in the theorem hold for $n=k$. Now we shall prove that the relations hold for $n=k+1$.

1. If $y_{0} \leq \frac{B_{1}}{x_{0}}, x_{0} \geq \frac{A_{1}}{y_{0}}$, then
(a) If $1 \leq \frac{A_{0}}{B_{0}}$, then
$x_{4(k+1)+1}=\max \left\{\frac{A_{4(k+1)}}{y_{4(k+1)-1}}, x_{4(k+1)-1}\right\}=\max \left\{\frac{A_{0}}{y_{4 k+3}}, x_{4 k+3}\right\}$ $=\max \left\{\frac{A_{0}}{\frac{B_{0}^{k+1}}{A_{0}^{k} x_{-1}}}, \frac{A_{0}^{k+1}}{B_{0}^{k+1}} x_{-1}\right\}=\frac{A_{0}^{(k+1)}}{B_{0}^{(k+1)}} x_{-1}$
$x_{4(k+1)+2}=\max \left\{\frac{A_{4 k+5}}{y_{4 k+4}}, x_{4 k+4}\right\}=\max \left\{\frac{A_{1}}{y_{0}}, x_{0}\right\}=x_{0}$
$y_{4(k+1)+1}=\min \left\{\frac{B_{4(k+1)}}{x_{4(k+1)-1}}, y_{4(k+1)-1}\right\}=$
$\min \left\{\frac{B_{0}}{\frac{A_{0}^{k+1}}{B_{0}^{k+1} x_{-1}}}, \frac{B_{0}^{k+1}}{A_{0}^{k} x_{-1}}\right\}=\frac{B_{0}^{k+2}}{A_{0}^{k+1} x_{-1}}$
$y_{4(k+1)+2}=\min \left\{\frac{B_{4 k+5}}{x_{4 k+4}}, y_{4 k+4}\right\}=\min \left\{\frac{B_{1}}{x_{0}}, y_{0}\right\}=y_{0}$

# https://daneshyari.com/en/article/6899016 

Download Persian Version:

## https://daneshyari.com/article/6899016

## Daneshyari.com


[^0]:    * Tel.: +966535561756.

